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1. f: X = C = k(x,y) = f(y)f(x) is PSD.
2. ki and ky are PSD = ki + ko is PSD.

3. ki and ky are PSD = kiky is PSD (Schur).
4. k,is PSD and k = nlLrgo k, = k is PSD.
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G: a free group with finite generators,
|g|: the number of factors in the word for g in G,

k(g, h) = exp(—t|h "g|) (t>0)

goboogo



goooooooooo

gooooo
VYneN, OODODO Vxg,...,x, € X, Y(c1,...,¢p) € C"\ {0}
good

n

Zc,-?jk(xj,x,-)>0

ij=1
00000000k 00000O000OO0D0000O0OCOOOOOO
obobobobomm



goooooooooo

gooooo
VYneN, OODODO Vxg,...,x, € X, Y(c1,...,¢p) € C"\ {0}
good

n

Zc,-?jk(xj,x,-)>0

ij=1
00000000k 00000O000OO0D0000O0OCOOOOOO
obobobobomm

0000
k,(x)=k(x,y) 00ODD0OO0D000OD0

1. kOODODOoOoo

2.¥neN, 000000 Vxg,...,xs € X 0000 {ke, ..., ke, }
oooooon



goooooooooo

00000000
e x,ycRIODODO
exp(—x — y||%), exp(—y[x — ylla) (v >0)

ORIO0DDODOOOODO Bochner 0O OO,



goooooooooo

goooooon

e x,ycRIODODO

exp(—||x —yl%), exp(—vllx —ylla) (v>0)

ORIO0DDODOOOODO Bochner 0O OO,

goooooon

e ky and kp are SPD = kykp is SPD (Schur)
e kis a Pick kernel = k is SPD.
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